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CHAPTER 1
e Problem 1.1 Firstanswer in part (i) should be87 + 17 j — 26k.

CHAPTER 2
e Problem 2.18 Answersshould be:

—1/2 —-1/2
w = Qb cosQt (a2 — b?sir? Qt) , speed of” is 1Qab| cosQ1| (a2 — bZsin? Qz)

CHAPTER 4
e Page79 Both M andm are present. They should all be

CHAPTER 5

e Pagel107 The relation betweea andQ should bax = mQ?2.

e Problem 5.8 Answer should be: Lower block leaves the floor after time
(a/g)"? cos1(=5/6).

e Problem59 Quegtion should have said to take = 10 ms™2.

CHAPTER 6

e Problem6.11 Question should have said that “The block is now lifted so
that itsunderside is at height3a/2 above the floor...."

e Problem 6.16 Question should read:

A bead of massn can slide on a smooth circular wire of radiuswhich
is fixed in a vertical plane. The bead is connected to the Bigbeint of
the wire by a light spring of natural lengBa/2 and strengtl. Determine
the stability of the equilibrium position at the lowest pioir the wire in the
cases (i = 2mg/a, and (i) = Smg/a.

e Problem 6.20 Question should have stated that the initial speed of the
particle isu. The hint is irrelevant!Answer should be: Time taken to hit
post ish?/2au.

CHAPTER 7

e Problem 7.6 Answer for the distance of closest approach should be
(PPVE+ D2 =y) V2,
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e Problem 7.9 Answer for the time taken should bea?/(2+/2y).
e Problem 7.23  Answer: Velocity boost should be given at the perigee.

e Problem7.25 Answersshould be:Av = 2.77 km per second and apogee
is 71,340 km from the Earth’s surface.

CHAPTER 8
1. Problem 8.13 Answer should be
cospt 3p?sinpt p3sin3pt )
1) =— — 0
0=t (4<p2— b a7 o)< O):

valid whenp # 1,1/3,1/5,....
2. Problem 8.14 This is actually acomputer assisted problem.

CHAPTER 10

e Problem 10.7 Answers given in theuestion refer to the case of zero
gravity. With gravity included these becomén y — gt and

Iny 12
‘L’(l—y_l)—ig‘( .
e Problem 10.12 Answer is missing. It should read: The proportions are

2/5,2/5and1/5.
e Problem 10.14 Answer is wrongly numbered as 10.13.

e Problem 10.15 Answer for the recoil angle should b&°.

CHAPTER 11

e Problem 11.17 Answer for the reaction at the floor should be
—iMgi —IMgj + Mgk.

CHAPTER 13
e Problem 13.2 Inthequestion, J[y] should beJ|x].

CHAPTER 14
e Problem 14.1 Answer should be:
G = —vf —3vivy — 2v§ + 6wy + Ywv,y — w2,
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e Problem 14.9 Inthequestion, the integrand should b& (¢, p.7)—¢ - p.

CHAPTER 16

e Problem 165 Answer for the maximum speed should B# cosa |6 |.

CHAPTER 17

e Problem 17.7 The question should read: “Show that the effect of the
Earth’s rotation is to deflect the shell to the west by a distan. ”.

CHAPTER 18
e Problem 18.3 Answer for v should be(1, 1, —1).

CHAPTER 19
e Problem 19.11 Answer should beCn$2, whereC = Mda?.
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